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Copy twice - cover once

Use a different relative clause in each

sentence.
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l her inf on al

____Inews topic.

Features of a newspaper report?



| can gather information about a news topic.

You now ARE a reporter for Manor Primary News.
Imagine that you watched the automaton working
with Hugo.

Your task, on Thursday, will be o write a report
about what happened at this event.

Let's take a look at the event in the two videos
below...

https://www.youtube.com/watch?v=LAfQO1kfANg
https://www.youtube.com/watch?v=4Tj1KAIzCNg



| can gather information about a news
topic.

Make notes on the key events. Make sure they are in
chronological order.

How does Hugo's and Isabelle's feeling
change throughout?

How could you exaggerate the events and emotions
to make them more interesting?
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) Which is greater, g or g?

| 3 5
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2) What comes next” 0°10°10” —

3)  Work out 222 H84

Y4) Round 8,426 to the nearest hundred. 8,400 -
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Video link: https://vimeo.com/503132995

Add and subtract fractions ,&

o Complete the calculations.
Use the bar models to help you.
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o Complete the calculations.
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Whaot could the missing numerators be?

Give six different possibilities.
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o Dora has 2 2 litres of Juibce. G Here are some froction cards.
8
S5he powurs ouwt % litres of juice.
o |[laa]llallz]||2]l],z
Howr meany litres of juice does she have left? 8 8 8 B B8 8

Use the cards to write pairs of fractions with a total of 2
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Compare answeers wwith a partner. What do gou notice?

¢

Annies rope is m lamg. Dexter's rope is rm long.
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B ' ize of clothing.

https://classroom.thenational.academy/units/me-visto-56c¢l



